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Select the incorrectly spelt word.
Aduletion

Applaud

Adaptation

Alleviate

Given below are four sentences which have been jumbled. Pick the option that gives the correct order.

A. Some body language, however, is a little less clear.

Q.No: 10 B. Turns out, it could be a sign of affection that translates into the three words that we long To hear: "I love you."

C. It's common knowledge that dogs wag their tails when they're happy and tuck them in when they're anxious.

D. Like have you ever wondered what it really means when they put their paw on you?

A ADCB
B BADC
c cabs
o AcoB
In the below question, four sentences are given, which when properly arranged, make up a paragraph. Rearrange the given sentences and choose the option that provides the correct final order.
P. 1 plan a do a whole series of articles around the how's, what's and why's of grocery shopping.
ot Q. As boring and mundane as this particular task is, it is an absolute necessity and is essential part of becoming an adult.
R. But to begln with, here's presenting an all exhaustive list of grocery essentials that will suffice for running any Indian household, irrespective of how big or small it is.
S. When people say they enjoy shopping, they don't generally refer to one particular type of shopping- Groceries!
A RPQS
B QsrRP
c RQSP
o SQPR
In the question below consists of a set of labelled These when properly form a coherent paragraph. Select the most logical order of sentences from among the options.
P. Apple iPhone shipments fell 11 per cent in the quarter globally (Yo).
Qos 12 Q. To ramp up sales, Apple implemented price cuts for the iPhone XR in India and China markets.
R. This was the third consecutive quarter of a decline in Apple iPhone shipments.
S. On the positive side, Apple saw phenomenal demand for AirPods.
A SPQR
B RSQP
[ QRSP
o PRQS
In this section, each item consists of six sentences of a passage. The first and sixth sentences are given in the beginning as 51 and S6. The middle four sentences in each have been jumbled up and labelled as P, Q, R and S. You are required to find the proper
sequence of the four sentences and mark your response accordingly on the Answer Sheet.
S1: The poor blind man wanted to go on the ather side of the road.
6 Mohan helped him in crossing the road.
QNo: 13 5. 716 Mohan got off and came to him.
Q: He was sad as he could not go across.
R: Then a scooter stopped in front of him.
S: The helpless man waited for a long time.
A PSRQ
B QRsP
c SPRQ
o SQRP

Q.No: 14 1In the following question, a sentence has been given in Active/Passive Voice, Out of the four alternatives suggested, select the one which best expresses the same sentence in Passive/Active Voice.
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Yashaswini cannot draw such a beautiful picture in the competition.
Such a beautiful picture cannot be drawing by Yashaswini in the competition.
Such a beautiful picture could not be drawn by Yashaswini in the competition.

Such a beautiful picture cannot be drew Yashaswini in the competition.

A
B
c
D

Q.No: 15

A
B
c
D

Such a beautiful picture can’t be drawn by Yashaswini in the competition.

In the following question, a sentence has been given in Active voice/passive voice. Qut of the four alternatives suggested, select the one which best expresses the same sentence in passive/active voice and mark your answer.

The Supreme Court has already dismissed the curative petition of V K Sharma.

V K Sharma has already been dismissed for the curative petition by the Supreme Court.
The curative petition of V K Sharma was already dismissed by the Supreme Court.

The curative petition of V K Sharma has already been dismissed by the Supreme Court.

V K Sharma of the curative petition has been already dismissed from the Supreme Court.

Select the correct pair of homephones to fill in the blanks.

He was criticized for his handling of the situation.

The title given to the project is

A inept ; inapt
B inapt ; inept
c inapt ; inapt
) inept ; inept
Choose the word or phrase from the given options that is closest in meaning to the bracketed word in the sentence.
R AT —— (banished) from the village.
A introduced
B accepted
c welcomed
[ expelled
In the following question, out of the given four alternatives, select the one which is similar in meaning to the given word,
Q.No: 18
CORDIAL
A warm
B cold
C rude
D hard
Select the correct pair of homophones to fill in the blanks.
Q.No: 19 ______ of any religion are not easy to follow.
Hundreds of were shot in the battlefield.
A canons ; cannons
8 cannons ; canons
c canons ; canons
D cannons ; cannons
1In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternatives suggested, select the one which best expresses the same sentence in Passive/Active Voice.
Q.No: 20
Will the cat finally catch the mouse in the cartoon “Tom & Jerry”?
A Will the mouse finally be catching the cat in the cartoon “"Tom & Jerry”?
B Will the mouse finally caught in the cartoon “Tom & Jerry”, will by the cat?
[ The mouse finally will be caught in the cartoon “Tom & Jerry” by the cat?
o Will the mouse be finally caught by the cat in the cartoon “Tom & Jerry"?
Q.No: 21 Which of the following classroom practices helps 2 teach T ;ie\;elup oral language among the students?
A chorus reading of the text with the teacher
B using the correct iation of new or i words
c chorus recitation of the peon after memorising it
") none of the given options

In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternatives suggested, select the one which best expresses the same sentence in Passive/Active Voice.

Wha gave you this stunning golden watch?
By whom were you being given this stunning golden watch?
By whom were you given this stunning golden watch?

Who you were given to this stunning golden watch by?

A
B
C
[}

By whom this stunning golden watch was given to you?

Select the correct pair of homophones to fill in the blanks.

Before I eat them, 1 will this of pears.
pair ; pare
pair ; pair

pare ; pare

o 0w »

pare ; pair

Choose the word from the options that is most similar in meaning to the given word.
Q.No: 24
Pensive
Dormant
Unreflective

Friable

o 0w >

Thoughtful

Choose the word or phrase from the given options that is closest in meaning to the bracketed word in the sentence.
Q.No: 25
He had to (cite) many examples in the thesis to make it convincing.
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Q.No: 38

Join

Quote

Leave

The iconic mode of learning is based on the system of using-
variety of activities

images and diagrams

symbols

different types of diagrams

In some business letters, the attention line is written for:
Winning the favour of the sender

Winning the favour of the manufacturer
Expediting the desired result and service

Speeding up the delivery of the letter

Which of the following is the aim of language teaching?
all of the given options

ability to the speaker’s

ability to read along with understanding

ability to express fluently and diversely using different skills

In which part of the formal letter the key points are written?
Body

Closing

Subject line

Postscript

Select the correct pair of homophones to fill in the blanks.

A couple of victories would improve the team's enormously.
It'sher _______ obligation to tell the police what she knows.

moral ; moral

moral ; morale

morale ; moral

morale ; morale

Choose the word or phrase from the given options that is closest in meaning to the bracketed word in the sentence.
The man was (notorious) for gambling and has lost all his wealth in the process.

criminal

famous

infamous

reputable

How would you plan to link the paragraphs to each other in an essay writing?
Write a lot of ideas in each paragraph

Making sure that each paragraph links to the introduction

Stating different key points in each paragraph

Making sure that each paragraph links to the conclusion

Exchange of ideas between two or more persons on a particular topic is-
Telling

Communication

Listening

Understanding

Your resume is a tool with one specific purpose:
To get a job

To win an Interview

To discuss salary

To know about work

Select the option that is NOT an antonym of another word by way of adding the prefix ‘un-"
Unanimous.

Unabashed

Unequivocal

Unaccountable

In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternatives suggested, select the one which best expresses the same sentence in Passive/Active Voice.

The employees brought up this issue during the last meeting.
This issue was been brought by the employees up during the last meeting.

This issue was brought up by the during the last meeti

This issue by the employees were brought up during the last meeting.

This issue was to be brought up by the employees during the last meeting.

In letter writing format, a title, *Dear Mr. Harish” is the best example of;
Salutation

Inside address

Bady

Introduction

When should you send a covering letter?

Every time you send your CV to an employer.
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.No: 39

.No: 40

.No: 41

No: 43

.No: 44

.No: 45

No: 46

.No: 47

.No: 48

Only when it is specifically requested in a job advert.

When you want to tell an your salary

Only when your CV does not cover everything you want to say.

How many types of application writing are there?

3

2

4

1

A teacher should while using problem solving method.

ask the students to consult their parents
look at the student’s activities from distance
participate actively In the process

encourage divergent thinking

Which of the following is an example of receptive skills?
speaking

reading

writing

walking

In the following question, the word at top is used in four different ways, numbered (a) to (d). Choose the option in which the usage of the word is INCORRECT or INAPROPPRIATE.

LAY
He lay in his bed

She sighed as she lay the visitors’ book beside the pen and lay back wondering if she would ever make an entry in it again

Our hens lay eggs every day

Lay down the carpet here

In the following question, out of the given four i select the

the meaning of the proverb.

The early bird catches the worm.
one who arrives early keeps wild animals away

one who arrives early is likely to make up his house
one who arrives first lives on charity

one who arrives first has the best chance for success

In the following question, a sentence has been given in Active voice/passive voice. Out of the four alternatives suggested, select the one which best expresses the same sentence in passive/active voice and mark your answer.

It is time to expedite tangible policy interventions.
It is time for the tangible policy interventions to expedite.

It Is time for the tangible policy interventions to be expedited.

It is being time for the tangible policy interventions are expedited.

It is going to be expedite time for the tangible policy interventions.

Choose the word from the options that is most similar in meaning to the given word.

Ruefully
Lult

Palliate
Bitterly

Blissfully

Select the most appropriate phrase to fill in the blank.
1f the board decreases our funding for this project, it will really
throw a spanner into the works. 7

throw caution to the wind.

throw a lifeline to us.

throw down the gauntlet.

In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

A pleasant song sung to send children to sleep
Traitor

Spendthrift

Teetotaller

Lullaby

In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternatives suggested, select the one which best expresses the same sentence in Passive/Active Voice.

Mr. Middleton pushed his invitations beyond the point of politeness.

His invit:

His invitations beyond the point of politeness were pushed by Mr. Middleton.
His invitations beyond the point of politeness was pushed by Mr. Middleton

His invitations were being pushed beyond Mr. to the point of

ions beyond the point of politeness were to be pushed by Mr. Middleton

Select the correct pair of homophones to fill in the blanks.

He goes down to the every week to lay flowers on her grave.
The addition may interfere with the of the building.
cemetery ; cemetery

symmetry ; cemetery

symmetry ; symmetry

cemetery ; symmetry

Out of all the alternatives given, select the word which closely fits the given definition.

A blessing in disguise
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Q.No: 61
A

B
=
D
Q.No: 62
A

B
c
D

to not judge someone or something based solely on appearance.

an that results in good ing later on.
to conceal someone's identity in a costume.

to describe exactly what Is causing a situation or problem.

Select the correct pair of homophones to fill in the blanks.

The communal speech of the leaders. the mob to violence.
His work shows originality and

incite ; insight

insight ; incite

insight ; insight

incite ; incite

Which of the following method is useful in heterogeneous classroom?
direct method

bilingual method

translation cum grammar method

substitution table method

Language learning in a constructivist classroom would be mainly based on —
completion of language syllabus

minute observation and record creation

correction of spelling errors to ensure they are not repeated

group discussion and peer interaction

Select the most appropriate meaning of the bracketed idiom in the given sentence.

A worldwide movement against the environmental pollution and the climate change is (in the offing).
imminent

on decline

at the end

in the air

Which approach emphasises interaction as the means and the goal of learning a language?
communicative

immersion

oral -aural

silent way

Select the most appropriate phrase to fill in the blank.

As a fashion designer, it’s my job to the changes in fashion trends.
keep abreast of

read between the lines of

speak volumes for

play second fiddle to

What is the most effective way of trying to use the linking words in essay writing?
Learning a lot of difficult linking words and phrases to use

Avoid use of linking words for a better result

Overusing linking words that are simple

Learning some popular linking words and phrases to use Between the sentences

Which cf the following helps in learning a second language without using the printed text?
situational approach

grammar translation method

natural approach

language immersion

1In which of the following year, the bilingual method of teachinngélopec?
in the late 1950s
in the late 1960s
in the late 1980s
in the late 1970s

In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternatives suggested, select the one which best expresses the same sentence in Passive/Active Voice,

This research has been approved by the ethics committee of the Institute of Gerontology.

The ethics committee of the Institute of Gerontology has been approving this research.
The ethics committee of the Institute of Gerontology has had approval of this research.
The ethics committee of the Institute of Gerontology has approved this research.

The ethics committee of the Institute of Gerontology has to be approved this research.

Select the option that is NOT an antonym of another word by way of adding the prefix "il-"
Illegitimate

Tllusion

Illiberal

Tlliteracy

How we can address the recipient when we are writing an Informal letter?
Hello Sir/Madam

Dear Mr.

Dear Sir/Madam

My Dear
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Q.No: 63 The structural approach advocates —

A selection and gradation of material
B using mother tongue

c all of the given options

D restoring to fluency

Q.No: 64 The structural approach of teaching gives more importance to which of the following?

A speech only
B speech and listening
c reading and writing
D reading only

Q.No: 65 To rewrite another writers’ words and ideas into your cwn words is also known as -
A Summarizing
B Plagiarism
c All of the given options.
o Paraphrasing
In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternatives suggested, select the one which best expresses the same sentence in Passive/Active Voice.
Q.No: 66
They say that women are smarter than men.
A Women say that people are smarter than men.
B Women are said to be smarter than men.
[« Women are being said to be smarter than men.
D People say that women are much smarter to men.
Choose the word from the options that is most similar in meaning to the given word.
Q.No: 67
Furore
A Calm
B Precocious
c Commotion
D Inchoate

Choose the word or phrase from the given options that s closest in meaning to the bracketed word in the sentence.
Q.No: 68
The pain did not (mitigate) despite a painkiller.

A Subside
B Compile
[ Enhance
D Urge
In the following question, the word at top is used in four different ways, numbered (a) to (d). Choose the option in which the usage of the word is INCORRECT or INAPROPPRIATE.
Qo: 69 ADOPT
A He tends to adopt the attitudes of those around him
B The bank will have to adopt the new approach
o} There are many people eager to adopt a baby
D Some people cannot adopt to new surroundings

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the proverb.
Q.No: 70

Don't judge a book by its cover.

not to examine the condition of your friends in different situations

not able to remain in a happy and prosperous moments after some loss

not to form an opinion about something based on its outward appearance

o0 ®w >

not to get panic In difficult situations and handle them easily

Q.No: 71 Overlearning is term, which is used to describe which of the following?

A the practice that continues after a perfect recall has been made

B the practice of overburdening the students with tasks

c the practice of learning over and beyond the requirement of a particular class or age
D spending too much time on studies

Q.No: 72 Which one of these points is included in the body of an essay?
A A topic sentence that states the main idea
B Opening statement
[ Summary of the topic
D Conclusion
Choose the word from the options that is most similar in meaning to the given word.
Q.No: 73
Descry
A Disparage
B Ascertain
c Palpable
D Ignore

Select the most appropriate phrase to fill in the blank.
Q.No: 74
The two good friends exchanged hot words but the intervention of their teacher

A blazed the trail.
B burnt their boats.
[ added fuel to the fire.
D poured oil on troubled waters.
In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternatives suggested, select the one which best expresses the same sentence in Passive/Active Voice.
Q.No: 75

A design competition would be held to a Day by the government.
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Q.No: 76
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Q.No: 77
A

B
c
D

Q.No: 78

o 0w >

Q.No: 79
A

B
c
o

Q.No: 80

o 0w >

Q.No: 81

o 0 o »

Q.No: 82

o 0 ®

Q.No: 83

o 0w

Q.No: 84
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Q.No: 85

o 0 ® >

Q.No: 86
A

B
c
D

Q.No: 87

o0 ®w »

The government would hold a design ion to ate 76th Day.
The government will hold a design ition to 76th Day.
The government would hold 76th Day to a design il

The government would held a design ition to 76th Day.

In the following question, out of the four alternatives, choose the one which best expresses the meaning of the given word.
Capricious

Impulsive

Frivolous

Haphazard

Fickle

Which of the following statement is not true about the bilingual method?
it involves sandwich technique

none of the given options

it was developed by H. E. Palmer.

it puts emphasis on fluency and accuracy

Choose the word from the options that is most similar in meaning to the given word.
Subjugate

Liberate

Overpower

Relegate

Perturb

The printed matter that runs over the edges of an outdoor board or a page leaving no margin is known as-
Classified

Bleed

Broadsheet

Solus

Out of all the alternatives given, select the word which closely fits the given definition.
The last straw

To ignore someone.

The final source of irritation for someone to finally lose patience.

Taking credit for someone else achievements.

A matter or problem that is obvious of great importance but that is not discussed openly.

In the following question, out of the four alternatives, select the word similar in meaning to the word given.
Deglutition

Remove

Wash

Exceed

Swallow

is not one of the seven Cs of communication.
Conciseness
Clarity
Correctness

Character

A gOOd teacher is scmeone who

explains concepts and principles

gives students useful information

gives students ample opportunities to learn

gives printed notes to students

Against the key word, are given some other words. Choose the word or phrase which is nearest in meaning to the key word.

Docile
Quiet
Liberal
Aggressive

Indifferent

Select the correct synonym of the given word.
Sumptuous

Frugal

Mean

Lavish

Scant

Which of the following statement is incorrect?

has three — sound, y and
regional speech habits do not influence pronunciation
all of the given options

main focus of English teaching in India is passing the exam

In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternatives suggested, select the one which best expresses the same sentence in Passive/Active Voice.

Why are the people not being helped to set up their business by the state government?
Why the state government doesn't help the people to be set up their business?
Why is the state government not helping the people to set up their business?
Why the state government is not helping the people to set up their business?

Why the state governments are not helping the people to set up their business?
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Q.No: 88

o 0w >

Q.No: 89

o 0w >

Q.No: 90

o 0 w »

Q.No: 91

o0 o >

o0 ®>» 0

Q.No: 93

o 0 ®

Q.No: 94

o 0 w »

Q.No: 95
A

B
c
]

Q.No: 96
A

B
[+
D

Q.No: 97

o 60 ®w »

Q.No: 98

o0 o >

Q.No: 99
A

8
c
D

Match the words with their meaning.

a. | Canorous | 1. | Reliable
b. | Quisting | 2. | Resonant
c. | Stalwart | 3. [ Traitor

a-2,b-1,¢c-3
a-1,b-3,¢c-2
a-3,b-1,¢c-2
a-2,b-3,c-1

In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternatives suggested, select the one which best expresses the same sentence in Passive/Active Voice.

The teacher is going to teach the students an interesting lesson.

The students are going to teach an interesting lesson to the teacher.

The students are going to be taught an interesting lesson by the teacher.
The students are being gone to teach an Interesting lesson by the teacher.

An interesting lesson is to be taught to the student by the teacher.

Select the most appropriate meaning of the bracketed idiom in the given sentence.

He's got plenty of money to hire a proper legal team. I don't think he needs the likes of us (taking up the cudgels).
to hinder

to forestall

to support

to encumber

In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternatives suggested, select the one which best expresses the same sentence in Passive/Active Voice.

My best friend has spotted me in the crowd.

1 have to be spotted by my best friend in the crowd.

I have been spotted by my best friend in the crowd.

Iam having been spotted by my best friend in the crowd.

I will have been spotted for my best friend in the crowd.

Which of the following is not a function of a cover letter?

To show how well you write

To inform the employer of the job you are applying for

To entice the reader to want to get to know you better by interviewing you

To inform the reader of what you expect to get out of the job you're applying for

In a business letter the preferred spacing between the paragraph, is-
Universal

Mono

Triple

Double

Choose the word from the options that is most similar in meaning to the given word.
Irksome

Vacillate

Cheerful

Stentorian

Abrasive

While writing a letter, one has to be-
Conventional

Dull

Friendly

Professional and harsh

If a teacher gives the meanings of dificult words in his student’s mother tongue, this is know as —
the grammar translation method

the bilingual method

the direct method

the reading method of Dr. West

In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternatives suggested, select the one which best expresses the same sentence in Passive/Active Voice.

Margaret will propose some new tools and techniques to obtain product details.
Some new tools and techniques will propose Margaret to be obtained product details.

Some new tools and techniques to obtaln product details would be proposed by Margaret.

Some new tools and iques will be proposed by Margaret to obtain product details.

Some new tools and by Margaret will be proposing to obtain product details.

Select the correct synonym of the given word.
Gargantuan

Enormous

Insignificant

Minute

Trivial

During the process of sharing thoughts and ideas, the communication suffers mainly from-
Physical barriers

Outer barriers

Age differences

Gender differences
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Q.No: 100 What is the motive of writing a letter to the editor?

A To threaten him to take action against any issue

B To order him to take action against any issue

C To ask him to take action against any issue

D To request him to give some space to your views in his column that can help on solving the problem

In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternatives suggested, select the one which best expresses the same sentence in Passive/Active Voice.
Q.No: 101
My younger brother was told many times to stop making lame excuses in the class.
The teacher told my younger brother many times to stop making lame excuses in the class.
My younger brother told me many times that I stop making lame excuses in the class.

I told many times to my younger brother to stop making lame excuses in the class.

o0 @ »

The teacher told my younger brother not to stop making lame excuses in the class.

In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternatives suggested, select the one which best expresses the same sentence in Passive/Active Voice.
Q.No: 102

The boss has punished the employee for not submitting the final report,

The employee has been punished by the boss for not submitting the final report.

The employee has being punished by the boss for not submitting the final report.

The has to be for not i the final report by the boss.

o0 w »

The has i for not itting the final report to the boss.

Q.No: 103 Who would be the implementer of education among the following?

A teacher
B education department
[ student
D curriculum
Passage:

Read the following passage carefully and choose the most appropriate answers to the given questions out of the four alternatives.

Human rights are moral principles or norms for certain standards of human behaviour and are regularly protected in municipal and international law. They are as inali rights to which a person is inherently entitled
simply because she or he is a human being and are inherent in all human beings, regardless of their age, ethnic origin, location, language, religion, ethnicity, or any other status. They are applicable everywhere and at every time in the sense of being universal,
and they are egalitarian in the sense of being the same for everyone.

They are regarded as requiring (empathy) and the rule of law and imposing an obligation on persons to respect the human rights of others, and it is generally considered that they should not be taken away except as a result of due process based on specific
circumstances. The doctrine of human rights has been highly influential within international law and global and regional institutions. Actions by states and non-governmental organisations form a basis of public policy worldwide. The idea of human rights
suggests that "if the public discourse of peacetime global society can be said to have a common moral language, it is that of human rights".

“Human rights are commonly understood as inalienable.” Why is it s0?

A Because these rights simply can vary depending on regions or countries instead of a person.

B Because a person’s ethnic origin or religion cannot affect these rights except diplomatic policies.

[+ Because these rights are for humans, they can be extended for humans but not on the basis of language or location of a person.

[ Because a person is a human being and these rights are inherent in all human beings.
Passage:
Read the following passage carefully and choose the most appropriate answers to the given questions out of the four alternatives.
Human rights are moral principles or norms for certain standards of human behaviour and are regularly protected in municipal and international law. They are as inali rights to which a person is inherently entitled
simply because she or he is a human being and are inherent in all human beings, regardless of their age, ethnic origin, location, language, religion, ethnicity, or any other status. They are applicable everywhere and at every time in the sense of being universal,
and they are egalitarian in the sense of being the same for everyone.

Q.No: 105
They are regarded as requiring (empathy) and the rule of law and imposing an obligation on persons to respect the human rights of others, and it is generally considered that they should not be taken away except as a result of due process based on specific
circumstances. The doctrine of human rights has been highly influential within international law and global and regional institutions. Actions by states and non-governmental organisations form a basis of public policy worldwide. The idea of human rights
suggests that "if the public discourse of peacetime global society can be said to have a common moral language, it is that of human rights".
What does the very idea of human rights suggest?

A The idea of human rights has been highly influential within international law.

B If the public discourse of peacetime global society can be said to have a common moral language, it is that of human rights.

[ Actions by states and non-governmental organisations form a basis of public policy worldwide.

3] They should not be taken away except as a result of due process based on specific circumstances.
Passage:
Read the following passage carefully and choose the most appropriate answers to the given questions out of the four alternatives.
Human rights are moral principles or norms for certain standards of human behaviour and are regularly protected in municipal and international law. They are as i rights to which a person is inherently entitled
simply because she or he is a human being and are inherent in all human beings, regardless of their age, ethnic origin, location, language, religion, ethnicity, or any other status. They are applicable everywhere and at every time in the sense of being universal,
and they are egalitarian in the sense of being the same for everyone.

Q.No: 106
They are regarded as requiring (empathy) and the rule of law and imposing an obligation on persons to respect the human rights of others, and it is generally considered that they should not be taken away except as a result of due process based on specific
circumstances. The doctrine of human rights has been highly influential within international law and global and regional institutions. Actions by states and non-governmental organisations form a basis of public policy worldwide. The idea of human rights
suggests that "if the public discourse of peacetime global society can be said to have a common meral language, it is that of human rights".
Human rights are egalitarian. What does it mean?

A They vary for political and religious institutions.

8 They differ according to where a person is born and decides to live.

[ They could not be imposed on every person on the planet.

D They are the same and equally important for everyone.

Q.No: 107 Passage:

Read the following passage carefully and choose the most appropriate answers to the given questions out of the four alternatives.

Human rights are moral principles or norms for certain standards of human behaviour and are regularly protected in municipal and international law. They are asi rights to which a person is inherently entitled
simply because she or he is a human being and are inherent in all human beings, regardless of their age, ethnic origin, location, language, religion, ethnicity, or any other status. They are applicable everywhere and at every time in the sense of being universal,
and they are egalitarian in the sense of being the same for everyone.
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Q.No: 109
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Q.No: 110
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Q.No: 111
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Q.No: 112

They are regarded as requiring (empathy) and the rule of law and imposing an obligation on persons to respect the human rights of others, and it is generally considered that they should not be taken away except as a result of due process based on specific
circumstances. The doctrine of human rights has been highly influential within international law and global and regional institutions. Actions by states and non-governmental organisations form a basis of public policy worldwide. The idea of human rights
suggests that "if the public discourse of peacetime global society can be said to have a common moral language, it is that of human rights".

As used in the given passage, what does the underlined bracket word ‘empathy’ most nearly mean?

discord
apathy
compassion

indifference

Passage:

Read the following passage carefully and choose the most appropriate answers to the given questions out of the four alternatives.

Human rights are moral principles or norms for certain standards of human behaviour and are regularly protected in municipal and international law. They are as inali rights to which a person is inherently entitled
simply because she or he is a human being and are inherent in all human beings, regardless of their age, ethnic origin, location, language, religion, ethnicity, or any other status. They are applicable everywhere and at every time in the sense of being universal,
and they are egalitarian in the sense of being the same for everyone.

They are regarned as requiring (em athy) and the rule of law and imposing an nbligation on persons to respect the human rigms of others, and it is genera(ly considered that they should not be taken away except as a result of due process based on specific
circumstances. The doctrine of human rights has been highly influential within international law and global and regional institutions. Actions by states and non-governmental organisations form a basis of public policy worldwide. The idea of human rights
suggests that "if the public discourse of peacetime global society can be said to have a common moral language, it is that of human rights”.

“Imposing an obligation on persons to respect the human rights of others.” Which part of speech is the word “others’ in the given line?
noun

pronoun

adjective

preposition

Passag:

Read the following passage carefully and choose the most appropriate answers to the given questions out of the four alternatives.

Three Weird Sisters appear to Macbeth and his comrade Banquo after a battle and they predict that Macbeth will be king and that the descendants of Banquo will also reign. When Macbeth arrives at his castle, he and Lady Macbeth plot to (assassinate) King
Duncan, soon to be their guest, so that Macbeth can become King. After Macbeth murders Duncan, the king’s two sons flee, and Macbeth is crowned. Fearing that Banquo's descendants will, according to the Weird Sisters’ predictions, take over the kingdom,
Macbeth has Banquo killed.

At a royal banquet that evening, Macbeth sees Banquo’s ghost that appears covered in blood. Macbeth determines to consult the Weird Sisters again. They comfort him with ambiguous promises. Another nobleman, Macduff, rides to England to join Duncan's
older son, Malcolm. Macbeth has Macduff's wife and children murdered. Malcolm and Macduff lead an army against Macbeth, as Lady Macbeth goes mad and commits suicide. Macbeth confronts Malcolm’s army, trusting in the Weird Sisters’ comforting promises.
Macbeth learns that the promises are tricks, but continues to fight. Macduff kills Macbeth and Malcolm becomes Scotland's king.

Who among the following is responsible for the murder of the central character of the story?
Macbeth
Macduff
Malcolm

Duncan

Passag,

Read the following passage carefully and choose the most appropriate answers to the given questions out of the four alternatives.

Three Weird Sisters appear to Macbeth and his comrade Banquo after a battle and they predict that Macbeth will be king and that the descendants of Banquo will also reign. When Macbeth arrives at his castle, he and Lady Macbeth plot to (assassinate) King
Duncan, soon to be their guest, so that Macbeth can become king. After Macbeth murders Duncan, the king’s two sons flee, and Macbeth is crowned. Fearing that Banquo's descendants will, according to the Weird Sisters’ predictions, take over the kingdom,
Macbeth has Banquo killed.

At a royal banquet that evening, Macbeth sees Banquo’s ghost that appears covered in blood. Macbeth determines to consult the Weird Sisters again. They comfort him with ambiguous promises. Another nobleman, Macduff, rides to England to join Duncan's
older son, Malcolm. Macbeth has Macduff's wife and children murdered. Malcolm and Macduff lead an army against Macbeth, as Lady Macbeth goes mad and commits suicide. Macbeth confronts Malcolm’s army, trusting in the Weird Sisters’ comforting promises.
Macbeth learns that the promises are tricks, but continues to fight. Macduff kills Macbeth and Malcolm becomes Scotland's king.

According to the passage, who Macduff actually is?
Macduff is Macbeth’s oldest friend.

Macduff is a nobleman.

Macduff is Banquo’s brother.

Macduff is Duncan’s older son.

Passage:

Read the following passage carefully and choose the most appropriate answers to the given questions out of the four alternatives.

Three Weird Sisters appear to Macheth and his comrade Banquo after a battle and they predict that Macbeth will be king and that the descendants of Banquo will also reign. When Macbeth arrives at his castle, he and Lady Macbeth plot to (assassinate) King
Duncan, soon to be their guest, o that Macbeth can become king. After Macbeth murders Duncan, the king’s two sons flee, and Macbeth is crowned. Fearing that Banquo's descendants will, according to the Weird Sisters’ predictions, take over the kingdom,
Macbeth has Banquo killed.

At a royal banquet that evening, Macbeth sees Banquo’s ghost that appears covered in blood. Macbeth determines to consult the Weird Sisters again. They comfort him with ambiguous promises. Another nobleman, Macduff, rides to England to join Duncan's
older son, Malcolm. Macbeth has Macduff's wife and children murdered. Malcolm and Macduff lead an army against Macbeth, as Lady Macbeth goes mad and commits suicide. Macbeth confronts Malcolm’s army, trusting in the Weird Sisters’ comforting promises.
Macbeth learns that the promises are tricks, but continues to fight. Macduff kills Macbeth and Malcolm becomes Scotland’s king.

“Macbeth learns that the promises are tricks.” What tricks are here being talked about by the author?
The tricks used by Duncan’s son

The tricks of Macduff's wife and children

The tricks of Banquo’s ghost

The tricks of three Weird Sisters

Passag,

Read the following passage carefully and choose the most appropriate answers to the given questions out of the four alternatives.

Three Weird Sisters appear to Macbeth and his comrade Banquo after a battle and they predict that Macbeth will be king and that the descendants of Banquo will also reign. When Macbeth arrives at his castle, he and Lady Macbeth plot to (assassinate) King
Duncan, soon to be their guest, so that Macbeth can become king. After Macbeth murders Duncan, the king’s two sons flee, and Macbeth is crowned. Fearing that Banquo's descendants will, according to the Weird Sisters’ predictions, take over the kingdom,
Macbeth has Banquo killed.

At a royal banquet that evening, Macbeth sees Banquo’s ghost that appears covered in blood. Macbeth determines to consult the Weird Sisters again. They comfort him with ambiguous promises. Another nobleman, Macduff, rides to England to join Duncan's

older son, Malcolm. Macbeth has Macduff's wife and children murdered. Malcolm and Macduff lead an army against Macbeth, as Lady Macbeth goes mad and commits suicide. Macbeth confronts Malcolm’s army, trusting in the Weird Sisters’ comforting promises.
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Macbeth learns that the promises are tricks, but continues to fight. Macduff kills Macbeth and Malcolm becomes Scotland’s king.

“After Macbeth murders Duncan, the king’s two sons flee, and Macbeth is crowned.” Which part of speech is the word ‘flee’ in the given line?
noun

verb

adjective

determiner

oo w »

Passage:

Read the following passage carefully and choose the most appropriate answers to the given questions out of the four alternatives.

Three Weird Sisters appear to Macbeth and his comrade Banquo after a battle and they predict that Macbeth will be king and that the descendants of Banquo will also reign. When Macbeth arrives at his castle, he and Lady Macbeth plot to (assassinate) King
Duncan, soon to be their guest, so that Macbeth can become king. After Macbeth murders Duncan, the king’s two sons flee, and Macbeth is crowned. Fearing that Banquo's descendants will, according to the Weird Sisters’ predictions, take over the kingdom,
Macbeth has Banquo killed.

Q.No: 113
At a royal banquet that evening, Macbeth sees Banquo's ghost that appears covered In blood. Macbeth determines to consult the Weird Sisters again. They comfort him with ambiguous promises. Another nobleman, Macduff, rides to England to join Duncan's

older son, Malcolm. Macbeth has Macduff's wife and children murdered. Malcolm and Macduff lead an army against Macbeth, as Lady Macbeth goes mad and commits suicide. Macbeth confronts Malcolm’s army, trusting in the Weird Sisters’ comforting promises.
Macbeth learns that the promises are tricks, but continues to fight. Macduff kills Macbeth and Malcolm becomes Scotland’s king.

As used in the given passage, what does the underlined bracket word ‘assassinate’ most nearly mean?
slaughter
forecast

cast

o0 ® »

revelation

Passage:

Read the following poem carefully and choose the most appropriate answers to the given questions out of the four alternatives.

Tree at my window, window tree,

My sash is lowered when night comes on;
But let there never be curtain drawn
Between you and me.

Vague dream head lifted out of the ground,
And thing next most diffuse to cloud,

Not all your light tongues talking aloud

Could be profound.

But tree, I have seen you taken and tossed,
And if you have seen me when I slept,

You have seen me when I was taken and swept
And all but lost.

That day she put our heads together,

Fate had her imagination about her,

Your head so much concerned with outer,

Mine with inner weather.

Which of the following is an example of personification in the poem "Tree at my window, window tree"?
Sash
Curtain

Night

A
B
c
D

Tree

Passage:

Read the following poem carefully and choose the most appropriate answers to the given questions out of the four alternatives.

Tree at my window, window tree,
My sash is lowered when night comes on;
But let there never be curtain drawn
Between you and me.
Vague dream head lifted out of the ground,
And thing next most diffuse to cloud,
Not all your light tongues talking aloud

QNo: 115 Could be profound.
But tree, I have seen you taken and tossed,
And if you have seen me when I slept,
You have seen me when I was taken and swept
And all but lost.
That day she put our heads together,
Fate had her imagination about her,
Your head so much concerned with outer,

Mine with inner weather.

What is the part of speech of the word "profound” in the following line "Tree at my window, window tree": "Not all your light tongues talking aloud/could be profound"?
Adjective
Verb

Noun

A
B
[
D

Adverb

Passag,

Read the following poem carefully and choose the most appropriate answers to the given questions out of the four alternatives.

Tree at my window, window tree,

| My sash is lowered when night comes on;
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But let there never be curtain drawn
Between you and me.

Vague dream head lifted out of the ground,
And thing next most diffuse to cloud,

Not all your light tongues talking aloud
Could be profound.

But tree, I have seen you taken and tossed,
And if you have seen me when I slept,

You have seen me when I was taken and swept
And all but lost.

That day she put our heads together,

Fate had her imagination about her,

Your head so much concerned with outer,

Mine with inner weather.

How does the poet describe his connection with the tree at the window in the poem “Tree at my window"?

The poet di

ikes the tree.
The poet is indifferent to the tree.

The poet has a close relationship with the tree.

o0 ® »

The poet is afraid of the tree.

Passage:

Read the following poem carefully and choose the most appropriate answers to the given questions out of the four alternatives.

Tree at my window, window tree,

My sash is lowered when night comes on;

But let there never be curtain drawn

Between you and me.

Vague dream head lifted out of the ground,

And thing next most diffuse to cloud,

Not all your light tongues talking aloud
QN7 Could be profound.

But tree, I have seen you taken and tossed,

And if you have seen me when I slept,

You have seen me when I was taken and swept

And all but lost.

That day she put our heads together,

Fate had her imagination about her,

Your head so much concerned with outer,

Mine with inner weather.

What does the poet mean when he describes "a vague dream head lifted out of the ground”?
The poet is referring to the tree.
The poet Is referring to himself.

The poet is referring to someone efse.

o 0w »

The poet is referring to a metaphor.

Passage:

Read the following poem carefully and choose the most appropriate answers to the given questions out of the four alternatives.

Tree at my window, window tree,

My sash is lowered when night comes on;

But let there never be curtain drawn

Between you and me.

Vague dream head lifted out of the ground,

And thing next most diffuse to cloud,

Not all your light tongues talking aloud
Q.No: 118 Could be profound.

But tree, I have seen you taken and tossed,

And if you have seen me when 1 slept,

You have seen me when I was taken and swept

And all but lost.

That day she put our heads together,

Fate had her imagination about her,

Your head so much concerned with outer,

Mine with inner weather.

What is the poet's attitude towards the sounds made by the tree in the poem "Tree at my window"?
The poet likes the sounds made by the tree.
The poet dislikes the sounds made by the tree.

The poet is indifferent to the sounds made by the tree.

o0 @ >

The poet is afraid of the sounds made by the tree.

Choose the word from the options that is most similar in meaning to the given word.
Q.No: 119
Peculiar
Normal
Perturbed

Abscond

o 0w >

Strange
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Q.No: 120
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Q.No: 121
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Q.No: 122
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Q.No: 123
A

B
c
D

Q.No: 124
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Q.No: 126
A

B
c
D

Q.No: 127
A

B
c
D

Q.No: 128
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Q.No: 129
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Q.No: 130
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Q.No: 131

In the following question, a sentence has been given in Active voice/passive voice. Out of the four alternatives suggested, select the one which best expresses the same sentence in passive/active voice and mark your answer.

Patiala House Court of Delhi is to give a major verdict in the Nirbhaya Case.

A major verdict in the Nirbhaya Case is to be given by Patiala House Court.
A major verdict is being given by Patiala House Court to the Nirbhaya Case.
A major verdict in the Nirbhaya Case was to be given by Patiala House Court.

A major verdict in the Nirbhaya Case has to be given by Patiala House Court.

In the following question, a sentence has been given in Active voice/passive voice. Out of the four alternatives suggested, select the one which best expresses the same sentence in passive/active voice and mark your answer,

The modern technology has made our life so much easier.
Our life has been made so much easier by the modern technology.
Our life had been made so much easier by the modern technology.
Our life was made so much easy with the use of the modern technology.

Our life is being made so much easier by the modern technology.

In the following question, out of the four alternatives, select the word opposite in meaning to the word given.
Beneath

Over

Under

Below

Covered

Language is a medium through which one can —
store a lot of information in one’s mind
none of the given options

express one’s ideas, thoughts, feelings etc.

express one’s physical appearance and impress others

Select the correct pair of homophones to fill in the blanks.

The courtier obeyed the king's orders in a manner.
There's a danger of becoming if you win a few games,
complaisant ; complacent

complacent ; complacent

complacent ; complaisant

complaisant ; complaisant

In the following question, out of the given four alternatives, select the one which is similar in meaning to the given bracketed word.

The church was a hallowed place because of the (sacred) artifacts.
precious

valued

scarce

holy

In a business letter the preferred spacing between the lines, is-
singte

Universal

Double

Triple

Select the option that is NOT an antonym of another word by way of adding the prefix ‘in-".
Indecent

Infrequent

Inhibit

Ineligible

In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternatives suggested, select the one which best expresses the same sentence in Passive/Active Voice.

Why are you not revising your lectures for your upcoming exams?

‘Why not your lectures were being revised for your upcoming exams by you?
‘Why your lectures are not revised for your upcoming exams by you?

‘Why your lectures are not being revised for your upcoming exams by you?

Why are your lectures not being revised by you for your upcoming exams?

Select the most appropriate meaning of the given idiom.
Teke heart

to take courage

to feel grieved

to rebuke

to assess the situation

In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternatives suggested, select the one which best expresses the same sentence in Passive/Active Voice.

The researchers used silver light software for qualitative data analysis.
Silver Light software were used into qualitative data analysis by the researchers.
silver Light software was being used by the researchers in qualitative data anatysis.
Silver Light software was used for qualitative data analysis by the researchers.

Silver Light software for qualitative data analysis was to be used by the researchers.

Choose the word from the options that is most similar in meaning to the given word.
Sophisticated

Polished

Adept
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Crude
Aggrandize

Which one of these points do you Include in an introduction of an essay?
Final results

Evidence

Discussion of important points in detail

Introduce topic areas in one or two sentences

If a teacher observes that one of his students is not able to write a paragraph on his own but he can write it under the adult or peer guidance, this guidance is called-

team teaching
counselling
scaffolding

socialisation

Which of the following is NOT one of the categories of Product dimension in the multi-factor theory by Guilford?
Units

Visual

Relations

Classes

Some children are talking and playing in a room with the same material but each child is playing separately. Which level of play is

depicted in the above situation?
Solitary play

Associative play

Parallel play

Cooperative play

Which of the following is not one of the four identity status of Marcia based on Erickson theory?
Collected

Moratorium

Achieved

Foreclosed

Which of the following is a form of behaviour therapy used to reduce phobic patients’ anxiety responses through

counterconditioning, i.e. an attempt to reverse the process of classical conditioning by associating the crucial stimulus with a new

conditioned response?
Deconditioning
Aversion therapy
Implosive Therapy

Systematic desensitisation
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personal adjustment
modification of behaviour
inculcation of knowledge

acquisition of skills
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According to progressive educationists, children should:

Sit and listen to the teacher while teaching and learning occur.
Be reprimanded and punished while teaching and learning occur.
Treated as an empty vessel.

Loved and cared while teaching and learning occur.

Which of the following does not count in N;E moral behaviour of an individual?
A non intentional action such as reflex

Person believes in values

Person does activities

Attitude of a person

The g factor in the two-factor theory, s present in all human beings in:
Different quantities

Difference in g factor cannot be determined

Same in same age groups

Equal quantities

As per the NCR8 (National Crime Records Bureau) data of 2020, which of the following educational groups of juveniles are the
highest in number in the state of Madhya Pradesh?

Higher secondary
Tlliterate
Up to primary classes

Up to matric

Which of the following statements Critiquing Kohlberg's perspective of moral development is correct?
Kohlberg explains that a simllar of social reasoning Is used by a person at various stages.

Kohlberg explains that a similar kind of moral reasoning is used by a person at various stages.
Kohlberg explains that a specific kind of social reasoning is used by a person at various stages.

Kohlberg explains that a specific kind of moral reasoning is used by a person at various stages.

Which of the following is/are a web-browsing software application in the internet sphere?
Microsoft Bing

Al of the given options

Microsoft Word

Mozilla Firefox
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Pascal is the unit of which of the following?
Newton

Volume

Pressure

None of the given options

The shortcut key Ctrl + I in MS-word is used to?
Text to bold

Inserts a line break

Increase font size

Applies italic format to select text

Where is the Madhya Pradesh Fish Federation (Cooperative) Limited headquarters located?
Jabalpur

Bhopal

Sehore

Indore

Find the related group of letters from the given alternatives.

AMIC : ? :: HFCB : KIFE
PDMF
MDPF
DPMF
DPFM

Introducing @ man a girl said " He is the father of the brother of my uncle.” How is the man related to the girl?
Grandfather

Father

Uncle

Daughter

Select the option /number which is related to 3" number in the same way as 2% number is related to a

13 number?
8§:256:10:?
1000

125
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